5.3 Notes: Sum and Difference Formulas l\

tan uttanv
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sin(u + v) = sinu cos v 4 cosusin v tan (u +v) = T rany
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sin(u — v) = sinu cos v — cosusin v
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cos(u + v) = cosu cos v — sin u si ) R =T mm—
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cos(u —v) = cosucosv + sinusinv

Investigation:
1. A) Do you think the following expressions equivalent? C[/J\.

cos G+5) % cos 3053 dishibutl

cos (Lt V)

B) Find the exact value of COS (E = g) using a sum identity from above.
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C) Find the exact value of COS 3 -+-cos 3 i e
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D) Are the two expressions above equivalent? ‘\\ O \ . (?{ ..
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You try: find the exact val F ooy = L+ 3 ¢
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Ex: 2 Find the exact galue of a.) sin 195° b.) cos 195° q ! 3{3
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You try: find the exact value of tan 195°
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, 5.3 Notes: Sum and Difference Formulay sl
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W‘md the exac r\‘r_alue %t_‘T_ a.) sin— b.) tan B T 5 !
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«¥owtry: Find the exact value of cos% .
s (-5
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a.) cos75° b.) tan75°
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Nowtty: Find the exact value of sin75°.
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C)ﬂ‘nd the exact value of sin(u -+ v) givensinu = R e S5and cogy o 12
n

sin (Utv) = SN cosSY T COSUGINY
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YouTry:  Find the exact value of cos(u + v) given sinu = A

V3
= where 0<u < o and cosy.
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where 5<v<7;,
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* YouTry:  Simplify the expression sin(5z - ).

Ex: ‘6 a.) Use a difference formula to prove the cofunction identity co{% = x) =sinx,
i v W
oS 5 Cos Xk + 5 =1 I
0. (oS % ) HElRPS
GOX = 50O

b.) Prove the identity tan(x - 7)= tan x

‘H}(\X —tantw
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Vany = ’*’Cu‘\x‘
YouTry:

sl T
Use a difference formula to prove the cofunction identity sm(x —E) =-Cosx.

-3

Ol Cos L — cosx 510
5\{\)(- OF & Colmas \
— (OSX = —(pSX .

Ex: 7 Simplify each expression  a.) cos(@ —37”) b.) tan(6 +37)
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